1D pull distribution

—0.001407 +0.1463

Mean

1.045 +£0.1035

Std Dev

Underflow

Overflow

4.197/6

X2 / ndf

10.15+2.15

Constant

0.142 £0.158

Mean

1.007 £0.178

Sigma

il
6

Al |
0

55.69/50

X2 / ndf
pO

4

8 +133.

469

0III|III

Adet (ppb)

T

-6y
q€v6ey
qCv6ey
L'v6cy
0'v62h
S'€6CY
'€621
€62
[A44
€6y
0'€62
v'c6ey
£'¢62h
X444
| X4T44
0'¢c6er
V'1621
1621
c'16¢v
' 16cy
0’1621
7'0621
€062
12062
-L°06¢y
-0°06¢1
1’682
€682
12682y
1L '68cy
-10'6821
7'88¢1
£'88¢1
2'88¢t
0881
08821
LA:T44
c'.8¢V
[At44
A4
0,821
'98¢1
98¢V
298¢
L'98cy
098¢t
7°S8¢1
€682
¢'S8¢y
[L'G8cy
0°G8¢1

4000 —

3000 —

2000 —

1000

—-1000

-2000

-3000




Adet RMS (ppm)

°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
°
____________________4_____________
To] 1o} o < o ™ Lo
o) o < o 1) o N
(o] [o)] (o] (o]

(wdd) sy

v'veey
€v6ey
c'veey
T'v6ey
0'v6ey
S'€6ey
v'eeey
£'e6ey
c'e6ey
T'e6er
0'€6ey
v'eeey
geeey
c¢'e6ey
Teceer
0ceey
v'16ey
€'T6cy
¢'Teey
T'162v
0'T6ey
v'o6ey
€'06¢y
c¢'o6ey
T'062t
0'06¢Y
v'68¢y
£68cy
2'68¢y
T'68cy
0'68¢y
'88¢y
£'88¢y
c'88ey
T'88¢r
0'88¢y
v'/82y
€'/8¢y
c¢'l8cy
T'/82v
0'/8¢y
'98¢y
€98ey
298¢y
T'98er
098¢y
'a8ey
€'98¢y
2's8ey
T's8er
0's8¢y



1D pull distribution

1.045 +£0.1035

—0.001407 +0.1463

Mean
Std Dev

Underflow

Overflow

4.197/6

X2 / ndf

10.15+2.15

Constant

0.142 £0.158

Mean

1.007 £0.178

Sigma

o

55.69/50
+133.4

469.8

X2 / ndf
0

p

lagr_asym_us_avg (ppb)

e e e r g

4000 —

3000 —

2000 —

1000

—-1000

-2000

-3000




lagr_asym_us_avg RMS (ppm)
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1D pull distribution
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lagr_asym_usl RMS (ppm)
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lagr_asym_us_dd (ppb) 1D pull distribution

2T ndf 7051750
4000 po 39 59 + 13 1 5 - Mean —0.01459 + 0.1646
9 :_ Std Dev 1.176 +£0.1164
3000 L
: Underflow 0
2000 sfb i
N Overflow 0
1000 I l}l I I l I l [ . :_ X2 / ndf 3.878/9
0 f 1 .[ 1] I I T [o 1 T Tt I T I i I L Constant 9.495 +1.927
= I | l l l ‘ l 6
1000 - r Mean  0.02494 +0.16336
= 5 :_ | sigma 1.058 +0.153
-2000 |— 3
-3000 — afF
-4000 — 3:_
T HEEEEE NN e E
A 2
il n f £
: | 1l 1 | 111 | 111 | 1 Ll | 11l

CJOO

6 4 2 0 2 4 6 8




lagr_asym_us_dd RMS (ppm)
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